12 Homework 8 (due Nov. 10) Name: Sol U TlodS

The purpose of this homework is to explore the cutting plane & branch/bound algorithms
for solving integer programming problems.
Reading: Sections 6.3 and 6.4.

1. Problem set 6.3, question 1, part a) (page 236). [Just part a)]
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2. Problem set 6.3, question 2, part ¢) (page 236). [Just part c)]
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3. Problem set 6.3, question 4 (page 237).
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4. Problem set 6.3, question 5 (page 237).
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5. Problem set 6.4, question 2, part a) (page 244).
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6. Problem set 6.4, question 2 part c) (page 244).
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